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FGR 12| R 55 2500 5400 12 20 35 62 20 42[ 55mm - 42 51 3 0,5
FGR 15| R 130 2200 4800 15 28 2,0 68 25 47 M5 8 52 56 3 08
FGR 20| R 180 1900 4100 20 34 24 75 30 55 M5 8 57 64 4 1,0
FGR 25| R 290 1550 3350 25 35 24 90 40 68 M6 10 60 78 4 1,5
FGR 30| R 500 1400 3050 30 43 24 100 45 75 M6 10 68 87 6 2,2
FGR 35| R 730 1300 2850 35 45 2,9 110 50 80 M6 12 74 9 6 3,0
FGR 40| R 1000 1150 2500 40 53 2,9 125 55 90 M8 14 86 108 6 46
FGR 45| R 1150 1100 2400 45 53 2,9 130 60 95 M8 14 86 112 8 4,7
FGR 50| R 2100 950 2050 50 64 39 150 70 110 M8 14 94 132 8 7.2
FGR 55| R 2600 900 1900 55 66 2,9 160 75 115 M 10 16 104 138 8 86
FGR 60| R 3500 800 1800 60 78 54 170 80 125 M 10 16 114 150 10 10,5
FGR 70| R 6000 700 1600 70 95 64 190 90 140 M 10 16 134 165 10 134
FGR 80| R 6800 600 1400 80 100 3,9 210 105 160 M 10 16 144 185 10 18,2
FGR 90| R 11000 500 1300 90 115 49 230 120 180 M 12 20 158 206 10 28,0
FGR 100| R 20000 350 1000 100 120 54 270 140 210 M 16 24 182 240 10 43,0
FGR 130| R 31000 250 900 130 152 7.9 310 160 240 M16 24 212 278 12 66,0
FGR 150| R 68 000 200 700 150 180 6,9 400 200 310 M 20 32 246 360 12 136,0
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